Day 3 - Factoring.notebook

Agenda
Take up homework from Wednesday

Quiz Thursday - This unit so far
Factoring
Hmwk
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Homework from Wednesday - pg. 29 # 2-4

2.9g)y=2x2-3x+5

d) y=-3x2-5x + 2

3. a) y=(x-2)(x+4)

y-intercept (0,5)

direction of opening - up
step pattern - 2, 6, 10
y-intercept (0,2)

direction of opening - down

step pattern: -3, -9, -15

X - intercepts: 2, -4

direction of opening: up
step pattern: 1, 3,5
vertex : €28 ,//— 71>

re-write in standard form: y = x2+ 2x - 8

y - intercept: (0, -8)

e) y=2(x-1)(x+3)

X - intercepts: 1, -3

direction of opening: up

step pattern: 2, 6, 10
vertex : (-1, -8)

re-write in standard form: y =2x2 +4x-6

y - intercept: (0, -6)

f) y=-2(x+3)(x-2)

X - intercepts: -3, 2

direction of opening: down

step pattern: -2, -6, -10
vertex : (-0.5, 12.5)

re-write in standard form: y =-2x2 - 2x + 12

y - intercept: (0, -6)

h)y =2(x - 3)(x + 3)

X - intercepts: 3, -3

direction of opening: up

step pattern: 2, 6, 10
vertex : (0, -18)

re-write in standard form: y = 2x2-18

y - intercept: (0, -18)

#4 c) y=3(x+5)2-15

b) y=2(x-1)2+1

vertex: (-5, -15)
direction of opening: up
step pattern: 3,9, 15
standard form: y = 3x2 + 30x + 60
y - intercept: (0, 60)

vertex: (1, 1)
direction of opening: up
step pattern: 2, 6, 10
standard form: y =2x2-4x+ 3

y - intercept: (0, 3)
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E. < L .‘

Expand the following 2 questions and determine the y-intercept:

a) y=—(x=12+5 b) y=%+l)(x+7)
’-—(X"|XX"\>+S -(zr-n.)(x-n- 1")
- ("( + ')("_'_!) +2 = 2,¢Q+l'-|-x.(. 2x 11t

:-')LL‘I‘X-I')L-I +5 = 2)(’4'“1')(-\'“‘"
=L +dy + 4

y - intercept: (Dyl*) y - intercept: < 0 Il"l' )

Y= ay tbx+e
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° LINE
Expanding
2(x +3)=2x+6

Factoring

1. Common Factoring | $7 skp ot h'ﬂlbj

- divide out a common factor ' gfﬁ;ﬁ, szm

a)4x -8 b) 5x2 15x + 20
- Y —__g_ 5 2 ng

# 4 5 5's
=4(X—2) = 5 (X —-3><+4—
c) -3x2 + 18x - 24 d) 24x2 - 15x + 27

= -3 -3>< _';’( %_) ,5( éx _I-ng gj
= -3 Q< o +9) = 3(B-561
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Factor the foIIowing
7 RV L e Y

)(2+5x+@

5+ (x4 3)

Ex.1

17

Ex.2

\/ a(xX- s x- @

w2+ 2w - 15

= (x—BXX* 5}

Ex.3 2y2+4y-48

. 2 '
Z ( 2 T 7
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Product (x) kO

(2)(2)< &

Product (x)’( gSum +t 2

S 345]-

A

5

Product (x)- Z Y

Sum (+) 4 2_

(e 3T

=& = 2

- Z (‘72“* Zv'f24>

=2 (¥ +e)(x-4)
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Ex4 2x2-4x+2

Ex5 w2-13w +42

Ex6 3x -12x+12
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What is a perfect square?

Difference of Squares:  an expression that represents subtraction between two
perfect squares

I remember this
from last year. You
just take the square
roots of both terms!

1. -9 2 ¥ -25 Don't forget that one

root is a positive and
the other is a negative.
like this: (x + )(x- )

3. ¥ -100 4.3 -12
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l 0 2 © ‘ ‘
Change the followmg to factored form and state the
x-intercepts, the y-intercept, and the vertex.

od. o | 307 S
I‘g/:) ¢ 243~
a) y=x2+5x+6 X - 1ntercepts - 2 -3
()( 1 ZD(X +3> y - intercept ( 9, b)
VeFeX

b) y=2x2 - 18x + 40 X - intercepts L\ g

’2(2$ |8’( 46) 1ntercept <D 7-0)

=2(% q’“’@ ) j( -
= 2(x-4)(x- 5”10 ey
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Homework

pg 30 #1 (LS), #2 a
&b

pg 31 #1 a,g,m,s
#2 a,d,g,j,m
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